Polygons #3






Name___________________________
Class ______  Date  _____________

1.  Give two properties of a rectangle that is NOT true for all parallelograms.

2.  Give two properties of a rhombus that is NOT true for all parallelograms

3.  The sum of the measures of a convex polygon is 22,320 degrees.  How many sides does it have?

4.  The measure of an interior angle of a regular polygon is 174 degrees.  How many sides does it have?

5.  The consecutive angles of a parallelogram are in the ratio of 12:8.  Find the measures of the four angles of the parallelogram.

6.  The diagonals of a rhombus are 30 inches and 16 inches.  Find the length of one side.

7.  The diagonal of a square is 12 inches.  Find the length of one side.

8.  The diagonal of a rectangle is 25 inches and one side is 15 inches.  Find the other side.

9.  One side of a rectangle is four more than five times the other.  The perimeter of the rectangle is 44m.  Find the lengths of the four sides.

10.  The perimeter of a square is 100 m.  Find the length of a side.  Find the length of the diagonal.

11.  Write Always, Sometimes, or Never

__________A.  As the number of sides of a convex polygon increases, the number of exterior angles increases.

__________B.  As the number of sides of a convex polygon increases, the sum of the measures of the exterior angles increases.

__________C.  As the number of sides of an equiangular polygon doubles, the measure of each exterior angle is halved.

12.  What is the name of the convex polygon whose sum of its interior angles measure nine times that of the measure of each exterior angle of a regular hexagon.
13.  What is the name of the convex polygon if the ratio of the measure of an interior angle to the measure of an exterior angle is 7 to 2?

14.  If the measure of an interior angle of a regular polygon is 162 degrees, how many sides does the polygon have?

15.  If the sum of the measures of a convex polygon is 1620 degrees, find the number of sides of the polygon.

16.  If a regular polygon has 4567 sides, what is the sum of the exterior angles?

17.  If a polygon has 1952 diagonals, how many sides does it have?

★☆MATH STAR PROBLEM!★☆

18.  Prove:  If the trapezoid is isosceles, then the diagonals are congruent.
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